MUSICAL NUMBERS FOR
ALL OCTAVES

out4se)= FOR MUSICAL NUMBERS

outja57- ALL OCTAVES

Here is a notebook to calculate the musical Numbers for any octave length and 2 - 44 partitions of that octave.

in4se;= oct = 10

outassl- 10

neso- eqtwo = Table[N[oct” (y/2)], {y, 1, 2}]
ouaso- {3.16228, 10.}

neso- eqthree = Table[N[oct” (y/3)], {y, 1, 3}]
ouas0= {2.15443, 4.64159, 10.}

nesii- eqfour = Table[N[oct™ (y /4) ], {y, 1, 4}]
ouss- {1.77828, 3.16228, 5.62341, 10. )

n4e2- eqfive = Table[N[oct”~ (y/5)], {y, 1, 5}]

oufssz- {1.58489, 2.51189, 3.98107, 6.30957, 10. )

n4es- e€qsix = Table[N[oct~ (y/6)1, {y, 1, 6}]
oussa- {1.4678, 2.15443, 3.16228, 4.64159, 6.81292, 10.}

n4es- eqseven = Table[N[oct”(y /7)1, {y, 1, 7}]
ouass- {1.3895, 1.9307, 2.6827, 3.72759, 5.17947, 7.19686, 10.}

ness- eqeight = Table[N[oct” (y/8)], {y, 1, 8}]
ouaes- {1.33352, 1.77828, 2.37137, 3.16228, 4.21697, 5.62341, 7.49894, 10. )

nese- eqnine = Table[N[oct”(y /9)], {y, 1, 9}]
ouase- {1.29155, 1.6681, 2.15443, 2.78256, 3.59381, 4.64159, 5.99484, 7.74264, 10. )

w71~ eqten = Table[N[oct” (y/10)], {y, 1, 18}]
ous7- {1.25893, 1.58489, 1.99526, 2.51189, 3.16228, 3.98107, 5.01187, 6.30957, 7.94328, 10.}
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egeleven = Table[N[oct”(y/11)], {y, 1, 11}]

{1.23285, 1.51991, 1.87382, 2.31013,
2.84804, 3.51119, 4.32876, 5.3367, 6.57933, 8.11131, 10.}

eqtwelve = Table[N[octA(y,/12)], {y, 1, 12} ]

{1.21153, 1.4678, 1.77828, 2.15443, 2.61016,
3.16228, 3.83119, 4.64159, 5.62341, 6.81292, 8.25404, 10.)

eqthirteen = Table [N[oct~ (n/13), 6], {n, @, 13}]

{1.00000, 1.19378, 1.42510, 1.70125, 2.03092, 2.42446,
2.89427, 3.45511, 4.12463, 4.92388, 5.87802, 7.01704, 8.37678, 10.0000}

eqfourteen = Table[N[oct”~ (n /14), 6], {n, 0, 14}]

{1.00000, 1.17877, 1.38950, 1.63789, 1.93070, 2.27585, 2.68270,
3.16228, 3.72759, 4.39397, 5.17947, 6.10540, 7.19686, 8.48343, 10.0000}

eqfifteen = Table[N[oct” (n/15), 6], {n, @, 15}]

{1.00000, 1.16591, 1.35936, 1.58489, 1.84785, 2.15443, 2.51189, 2.92864,
3.41455, 3.98107, 4.64159, 5.41170, 6.30957, 7.35642, 8.57696, 10.0000}

egsixteen = Table[N[oct” (n/16), 6], {n, @, 16} ]

(1.00000, 1.15478, 1.33352, 1.53993, 1.77828, 2.05353, 2.37137, 2.73842,
3.16228, 3.65174, 4.21697, 4.86968, 5.62341, 6.49382, 7.49894, 8.65964, 10.0000)

eql7 = Table[N[oct” (n /17), 6], {n, @, 17} ]

(1.00000, 1.14505, 1.31113, 1.50131, 1.71907, 1.96842, 2.25393, 2.58086, 2.95521,
3.38386, 3.87468, 4.43669, 5.08022, 5.81709, 6.66085, 7.62699, 8.73326, 10.0000)

eql8 = Table[N[oct” (n /18), 6], {n, @, 18}]

(1.00000, 1.13646, 1.29155, 1.46780, 1.66810, 1.89574, 2.15443, 2.44844, 2.78256, 3.16228,
3.59381, 4.08424, 4.64159, 5.27500, 5.99484, 6.81292, 7.74264, 8.79923, 10.0000)

eql9 = Table[N[oct” (n /19), 6], {n, @, 19} ]

{1.00000, 1.12884, 1.27427, 1.43845, 1.62378, 1.83298, 2.06914, 2.33572, 2.63665, 2.97635,
3.35982, 3.79269, 4.28133, 4.83293, 5.45559, 6.15848, 6.95193, 7.84760, 8.85867, 10.0000}

€q20 = Table[N[oct~ (n /20), 6], {n, @, 20} ]

{1.00000, 1.12202, 1.25893, 1.41254, 1.58489, 1.77828,
1.99526, 2.23872, 2.51189, 2.81838, 3.16228, 3.54813, 3.98107,
4.46684, 5.01187, 5.62341, 6.30957, 7.07946, 7.94328, 8.91251, 10.0000}

eq21 = Table[N[oct”~ (n /21), 6], {n, @, 21}]

{1.00000, 1.11588, 1.24520, 1.38950, 1.55052, 1.73020,
1.93070, 2.15443, 2.40410, 2.68270, 2.99358, 3.34048, 3.72759, 4.15956,
4.64159, 5.17947, 5.77969, 6.44947, 7.19686, 8.03086, 8.96151, 10.0000}



na7op- €422 = Table [N[oct” (n/22), 6], {n, 0, 22}]

ouia79)= {1.00000, 1.11034, 1.23285, 1.36887, 1.51991,
2.08057, 2.31013, 2.56502, 2.84804, 3.16228,
4.80638, 5.33670, 5.92553, 6.57933, 7.30527,

nueoi- €423 = Table[N[oct” (n/23), 6], {n, @, 23}]

outias0)= {1.00000, 1.10530, 1.22168, 1.35031, 1.49250,
2.22754, 2.46209, 2.72134, 3.00788, 3.32460,
4.96195, 5.48442, 6.06190, 6.70019, 7.40568,

nusri- €qs24 = Table[N[oct” (n/24), 6], {n, @, 24}]

outis]= {1.00000, 1.10069, 1.21153,
2.15443, 2.37137, 2.61016,
5.10897, 5.62341, 6.18966,

.33352, 1.46780,
.87298, 3.16228,
.81292, 7.49894,

AN B

nuezi- €qs25 = Table[N[oct” (n/25), 6], {n, @, 25}]

outias2)= {1.00000, 1.09648, 1.20226,
2.08930, 2.29087, 2.51189,
4.78630, 5.24807, 5.75440,

.31826, 1.44544,
.75423, 3.01995,
.30957, 6.91831,

AN B

nuesi- €qs26 = Table[N[oct” (n/26), 6], {n, @, 26} ]

oupsa- {1.00000, 1.09260, 1.19378, 1.30432, 1.42510,
2.21898, 2.42446, 2.64897, 2.89427, 3.16228,
4.92388, 5.37984, 5.87802, 6.42233, 7.01704,

nuesi- €qs26 = Table[N[oct” (n/26), 6], {n, 8, 26} ]

ouusa- {1.00000, 1.09260, 1.19378,
2.21898, 2.42446, 2.64897,
4.92388, 5.37984, 5.87802,

.30432, 1.42510,
.89427, 3.16228,
.42233, 7.017604,

AN B

nuesi- €qs27 = Table[N[oct” (n/27), 6], {n, @, 27}]

oufsss- {1.00000, 1.08902, 1.18597, 1.29155, 1.40653,
2.34623, 2.55510, 2.78256, 3.03027, 3.30003,
5.05480, 5.50479, 5.99484, 6.52852, 7.10971,

nueci- €qs28 = Table[N[oct” (n/28), 6], {n, @, 28}]

ouse~ {1.00000, 1.08571, 1.17877, 1.27980, 1.38950,
2.27585, 2.47091, 2.68270, 2.91263, 3.16228,
5.17947, 5.62341, 6.10540, 6.62870, 7.19686,

nue7i- €qs29 = Table[N[oct” (n /29), 6], {n, @, 29}]

ousr- {1.00000, 1.08264, 1.17210, 1.26896, 1.37382,
2.21222, 2.39503, 2.59294, 2.80722, 3.03920,
4.89390, 5.29832, 5.73615, 6.21017, 6.72336,
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.68761,
.51119,
.11131,

.64965,
.67466,
.18547,

.61560,
.48070,
.25404,

.58489,
.31131,
.58578,

.55707,
.45511,
.66682,

.55707,
.45511,
.66682,

.53174,
.59381,
.74264,

.50859,
.43332,
.81371,

.48735,
.29034,
.27895,

.87382,
.89860,
.00628,

.82335,
.06159,
.04736,

.77828,
.83119,
.08518,

.73780,
.63078,
.31764,

.70125,
.77505,
.37678,

.70125,
.77505,
.37678,

.66810,
.91375,
.43191,

.63789,
.72759,
.48343,

.61026,
.56225,
.88046,

4.32876,
10.0000}

2.01534,
4.48925,
10.0000}

1.95734,
4.21697, 4.64159,
10.0000}

1.90546,
3.98107, 4.36516,
9.12011, 10.0000}

1.85879, 2.03092,
4.12463, 4.50657,
9.15247, 10.0000}

1.85879, 2.03092,
4.12463, 4.50657,
9.15247, 10.0000}

1.81660, 1.97832, 2.15443,
4.26216, 4.64159,
9.18254, 10.0000}

1.77828, 1.93070, 2.09618,
4.04709, 4.39397, 4.77058,
9.21055, 10.0000}

1.74333, 1.88739, 2.04336,
3.85662, 4.17532, 4.52035,
8.53168, 9.23671, 10.0000}

| 3
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nussi- €qs3@ = Table[N[oct” (n/3@), 6], {n, @, 30}]

ouasgl- {1.00000, 1.87978, 1.16591, 1.25893, 1.35936, 1.46780, 1.58489,
1.71133, 1.84785, 1.99526, 2.15443, 2.32631, 2.51189, 2.71227, 2.92864,
3.16228, 3.41455, 3.68695, 3.98107, 4.29866, 4.64159, 5.01187, 5.41170,
5.84341, 6.30957, 6.81292, 7.35642, 7.94328, 8.57696, 9.26119, 10.0000}

nise0- €qs31 = Table [N[oct” (n/31) » 6], {n, 0, 31}]

ouasgl= {1.00000, 1.07711, 1.16016, 1.24961, 1.34596, 1.44974, 1.56152, 1.68192,
1.81161, 1.95129, 2.10175, 2.26380, 2.43835, 2.62636, 2.82887, 3.04699,
3.28193, 3.53498, 3.80755, 4.10113, 4.41734, 4.75794, 5.12481, 5.51995,
5.94557, 6.40400, 6.89779, 7.42964, 8.00250, 8.61954, 9.28415, 10.0000}

nuc0j- €qs32 = Table [N[oct” (n/32) » 6], {n, @, 32}]

ouas0- {1.00000, 1.07461, 1.15478, 1.24094, 1.33352, 1.43301, 1.53993, 1.65482,
1.77828, 1.91095, 2.05353, 2.20673, 2.37137, 2.54830, 2.73842, 2.94273,
3.16228, 3.39821, 3.65174, 3.92419, 4.21697, 4.53158, 4.86968, 5.23299, 5.62341,
6.04296, 6.49382, 6.97831, 7.49894, 8.05842, 8.65964, 9.30572, 10.0000}

nuor- €qs33 = Table[N[oct” (n/33), 6], {n, @, 33}]

ouser- {1.00000, 1.07227, 1.14976, 1.23285, 1.32194, 1.41747, 1.51991, 1.62975,
1.74753, 1.87382, 2.00923, 2.15443, 2.31013, 2.47708, 2.65609, 2.84804, 3.05386,
3.27455, 3.51119, 3.76494, 4.03702, 4.32876, 4.64159, 4.97702, 5.33670, 5.72237,
6.13591, 6.57933, 7.05480, 7.56463, 8.11131, 8.69749, 9.32603, 10.0000}

nuozi- €qs34 = Table[N[oct” (n/34), 6], {n, @, 34}]

ousz. {1.00000, 1.07007, 1.14505, 1.22528, 1.31113, 1.40300, 1.50131, 1.60651,
1.71907, 1.83953, 1.96842, 2.10634, 2.25393, 2.41186, 2.58086, 2.76170, 2.95521,
3.16228, 3.38386, 3.62096, 3.87468, 4.14617, 4.43669, 4.74756, 5.08022, 5.43618,
5.81709, 6.22469, 6.66085, 7.12756, 7.62699, 8.16140, 8.73326, 9.34519, 10.0000}

nuosj- €qs35 = Table[N[oct” (n/35), 6], {n, @, 35}]

oua93- {1.00000, 1.06800, 1.14062, 1.21819, 1.30103, 1.38950, 1.48398, 1.58489, 1.69267,
1.80777, 1.93070, 2.06199, 2.20220, 2.35195, 2.51189, 2.68270, 2.86512, 3.05995,
3.26803, 3.49025, 3.72759, 3.98107, 4.25179, 4.54091, 4.84969, 5.17947, 5.53168,
5.90784, 6.30957, 6.73863, 7.19686, 7.68625, 8.20891, 8.76712, 9.36329, 10.0000}

nuos- €qs36 = Table[N[oct” (n/36), 6], {n, @, 36}]

ouses- {1.00000, 1.06605, 1.13646, 1.21153, 1.29155, 1.37686, 1.46780, 1.56475, 1.66810, 1.77828,
1.89574, 2.02095, 2.15443, 2.29674, 2.44844, 2.61016, 2.78256, 2.96635, 3.16228,
3.37115, 3.59381, 3.83119, 4.08424, 4.35400, 4.64159, 4.94817, 5.27500, 5.62341,
5.99484, 6.39080, 6.81292, 7.26292, 7.74264, 8.25404, 8.79923, 9.38042, 10.0000}
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nuosi- €qs37 = Table[N[oct” (n/37), 6], {n, @, 37}]

outae51- {1.00000, 1.06421, 1.13254, 1.20526, 1.28265, 1.36501, 1.45265, 1.54593, 1.64519, 1.75083,
1.86325, 1.98288, 2.11020, 2.24570, 2.38989, 2.54335, 2.70665, 2.88044, 3.06540, 3.26222,
3.47169, 3.69460, 3.93183, 4.18429, 4.45296, 4.73888, 5.04316, 5.36698, 5.71159,
6.07832, 6.46861, 6.88395, 7.32597, 7.79636, 8.29696, 8.82970, 9.39665, 10.0000}

nuoci- €qs38 = Table[N[oct” (n/38), 6], {n, @, 38}]

ouss {1.00000, 1.06247, 1.12884, 1.19935, 1.27427, 1.35388, 1.43845, 1.52831, 1.62378, 1.72521,
1.83298, 1.94748, 2.06914, 2.19839, 2.33572, 2.48163, 2.63665, 2.80136, 2.97635, 3.16228,
3.35982, 3.56970, 3.79269, 4.02961, 4.28133, 4.54878, 4.83293, 5.13483, 5.45559, 5.79639,
6.15848, 6.54319, 6.95193, 7.38620, 7.84760, 8.33782, 8.85867, 9.41205, 10.0000}

nuo7- €qs39 = Table[N[oct” (n/39), 6], {n, @, 39}]

ouae7- {1.00000, 1.06082, 1.12534, 1.19378, 1.26638, 1.34340, 1.42510, 1.51178, 1.60372, 1.70125,
1.80472, 1.91448, 2.03092, 2.15443, 2.28546, 2.42446, 2.57191, 2.72833, 2.89427, 3.07029,
3.25702, 3.45511, 3.66524, 3.88816, 4.12463, 4.37548, 4.64159, 4.92388, 5.22335, 5.54102,
5.87802, 6.23551, 6.61474, 7.01704, 7.44380, 7.89652, 8.37678, 8.88624, 9.42668, 10.0000}

nuosi- €qs4@ = Table[N[oct” (n /4@), 6], {n, @, 40}]

outacgl= {1.00000, 1.05925, 1.12202, 1.18850, 1.25893, 1.33352, 1.41254, 1.49624,

1.58489, 1.67880, 1.77828, 1.88365, 1.99526, 2.11349, 2.23872, 2.37137,
2.51189, 2.66073, 2.81838, 2.98538, 3.16228, 3.34965, 3.54813, 3.75837,
3.98107, 4.21697, 4.46684, 4.73151, 5.01187, 5.30884, 5.62341, 5.95662, 6.30957,
6.68344, 7.07946, 7.49894, 7.94328, 8.41395, 8.91251, 9.44061, 10.0000}

nuooj- €qs4l = Table[N[oct” (n/41), 6], {n, @, 41}]

ouaeo- {1.00000, 1.05777, 1.11887, 1.18351, 1.25188, 1.32419,
1.56719, 1.65772, 1.75349, 1.85478, 1.96193, 2.07526,

1 1 .40069, 1.48160,
1 2

2.45609, 2.59797, 2.74805, 2.90680, 3.07472, 3.25233,
4 5
7 8

.19515, 2.32195,
.44021, 3.63895, 3.84916,
.70292, 6.03237, 6.38084,
.45387, 10.0000)

4.07152, 4.30672, 4.55551, 4.81867, 5.09703, 5.39147,
6.74945, 7.13935, 7.55177, 7.98802, 8.44947, 8.93757,

O U1t W N B

nso0p- €qs42 = Table[N[oct” (n/42), 6], {n, @, 42}]

outsoo= {1.00000, 1.05635, 1.11588, 1.17877, 1.24520, 1.31537,
1.55052, 1.63789, 1.73020, 1.82770, 1.930790, 2.03950,

1 1 .38950, 1.46780,
1 2

2.53958, 2.68270, 2.83388, 2.99358, 3.16228, 3.34048,
4 5
8 8

.15443, 2.27585, 2.40410,
.52874, 3.72759, 3.93766,
.77969, 6.10540, 6.44947,
.46652, 10.0000}

4.15956, 4.39397, 4.64159, 4.90316, 5.17947, 5.47136,
6.81292, 7.19686, 7.60243, 8.03086, 8.48343, 8.96151,

O U1t W N

nsor- €qs43 = Table[N[oct” (n /43), 6], {n, @, 43}]

ousor- {1.00000, 1.05501, 1.11304, 1.17427, 1.23886, 1.30701,
1.53478, 1.61921, 1.70828, 1.80225, 1.90138, 2.00598,
2.48513, 2.62183, 2.76605, 2.91821, 3.07873, 3.24809,
4.02394, 4.24529, 4.47881, 4.72518, 4.98511, 5.25933,
6.51559, 6.87400, 7.25212, 7.65105, 8.07192, 8.51594,

.37891, 1.45476,
.11632, 2.23274, 2.35555,
.42676, 3.61526, 3.81413,
.54863, 5.85385, 6.17586,
.98439, 9.47860, 10.0000}

o Ui w N Bk
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ns021- €qs44 = Table[N[oct” (n/ 44), 6], {n, 0, 44}]

ousoz- {1.00000, 1.05372, 1.11034, 1.16999, 1.23285, 1.29908, 1.36887, 1.44242, 1.51991,
1.60157, 1.68761, 1.77828, 1.87382, 1.97449, 2.08057, 2.19235, 2.31013, 2.43424,
2.56502, 2.70283, 2.84804, 3.00105, 3.16228, 3.33217, 3.51119, 3.69983, 3.89860,
4.10806, 4.32876, 4.56132, 4.80638, 5.06460, 5.33670, 5.62341, 5.92553, 6.24388,
6.57933, 6.93281, 7.30527, 7.69775, 8.11131, 8.54709, 9.00628, 9.49014, 10.0000}



